
https://www.geekcert.com/s10-210.html
2024 Latest geekcert S10-210 PDF and VCE dumps Download

 

 

 

S10-210Q&As

Storage Networking Management and Administration

Pass SNIA S10-210 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/s10-210.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SNIA
Official Exam Center

 

 

Latest S10-210 Dumps | S10-210 VCE Dumps | S10-210 Exam Questions                                1 / 3

https://www.geekcert.com/s10-210.html
https://www.geekcert.com/s10-210.html
https://www.geekcert.com/s10-210.html


https://www.geekcert.com/s10-210.html
2024 Latest geekcert S10-210 PDF and VCE dumps Download

QUESTION 1

You are designing a security solution for a storage array which stores customer credit card information. 

Data on the storage array must be encrypted and if necessary, you want to be able to revoke access to data on
demand. 

In addition to encryption, which solution would allow you to do this in a secure and automated fashion? 

A. Use a manual record deletion solution. 

B. Physically destroy hard drives holding the data 

C. Store data indefinitely. 

D. Use the key management solution. 

Correct Answer: D 

 

QUESTION 2

A company has a storage subsystem that supports a variety of replication options. They have purchased an identical
array and placed it at a secondary site 50 km away and will provide the shortest RPO. 

Which statement is correct? 

A. Asynchronous replication is the only replication option for distances over 50 km. 

B. Synchronous replication is the only replication option for distances over 50 km. 

C. Snapshots allow for data to be quickly captured, copied, and mounted from one storage array to another and is the
ideal solution for all distances. 

D. Synchronous replication will keep the arrays closely synchronized and is ideal for short distances. 

Correct Answer: D 

 

QUESTION 3

After the storage administrator merged two multi-vendor FC SANs, an error indicates that two ports have become
isolated causing a segmentation to exist in the fabric. 

Which two events would cause this? (Choose two.) 

A. Overlapping zones 

B. Different port names 

C. Unsupported routing protocols 

D. Different link speeds 
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Correct Answer: AC 

 

QUESTION 4

You need to merge two existing FC fabrics. After connecting the ISL to join the fabrics, numerous switches segment. 

What should be done to prevent the segmentation? 

A. Physically separate the switches to opposite sides of the data center. 

B. Move business critical applications to clusters. 

C. Increase the frequency of snapshots for critical data. 

D. Assign domain IDs which are unique across both fabrics. 

Correct Answer: D 

 

QUESTION 5

What are two concerns when trying to migrate from one cloud storage provider to another one? (Choose two.) 

A. Stability 

B. Accessibility 

C. Different drive types 

D. CAN protocol compatibility 

Correct Answer: AB 
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